

A New k -Fractional Integral Operators and their Applications

Hina Ilyas

Department of Mathematics,
University of Agriculture Faisalabad, Pakistan,
Email: hinailyas716@gmail.com

Ghulam Farid

Department of Mathematics,
University of Agriculture Faisalabad, Pakistan,
Email: ghulamfarid@uaf.edu.pk

Received: 21 January, 2021 / Accepted: 04 November, 2021 / Published online: 25 November, 2021

Abstract.: In this paper, we present a new k -fractional integral operators involving parameters γ, λ analogous to the Riemann-Liouville k -fractional integral. This new fractional integral operators dependent on an exponential function of arbitrary exponent in the kernel of the integral. We prove, certain basic properties such as semi group property, commutative law and boundedness for new fractional integral operators. Also, we discuss Chebyshev type inequalities and some k -fractional integral inequalities corresponding to the new k -fractional integral operators.

AMS (MOS) Subject Classification Codes: 26A33; 46F12; 54C30

Key Words: Riemann-Liouville k -fractional integral, New k -fractional integral operators, Gamma k -function, Beta k -function, Holder's Inequality.

1. INTRODUCTION

For the past four decades or so, the subject of fractional calculus (in other words, calculus of integrals and derivatives of any arbitrary real or complex order) has obtained remarkable popularity and importance, owing mainly to its revealed applications in a notable number of diverse and widespread fields of science and engineering. Accordingly, a strikingly large number of papers and monographs involving the fractional calculus have been provided (see, e.g., [6], [3], [8], [12] and [13]). The fractional concept of derivatives mostly defined by means of fractional integral. But the idea of integration and derivative of non-integer arrangement is motivated, in 1965 asked by L'Hospital inside his letter toward Leibniz through the question "What is the derivative of $\frac{d^n f}{dx^n}$ for order $n = \frac{1}{2}$ ". Also some inequalities like Chebyshev type inequalities, midpoint type and Hermite-Hadamard inequalities has been examined for generalized functions of fractional integral operators

(see [15] and [1]). However, the k -Riemann-Liouville fractional integral involving $(x-t)$ kernel has been investigated by many authors to solve fractional and differential inequalities (see [7], [5], [11], [14] and [10]).

Riemann-Liouville [9] considering continuous function z about order $\gamma > 0$ over the interval $[a, u]$ defined as,

$$I_{a+}^{\gamma}(z(u)) = \frac{1}{\Gamma(\gamma)} \int_a^u (u-v)^{\gamma-1} z(v) dv, \quad u > a,$$

prompted by the Cauchy integral formula

$$\int_a^u \int_a^u \int_a^u \dots \int_a^u z(v) dv_1 dv_2 dv_3 \dots dv_n = \frac{1}{\Gamma(n)} \int_a^u (u-v)^{n-1} z(v) dv, \quad u > a.$$

Later, Hadamard [4] defined fractional integral about order $\gamma > 0$ over the interval $[a, u]$ for a continuous function z and given as,

$$I_{a+}^{\gamma} z(u) = \frac{1}{\Gamma(\gamma)} \int_a^u \frac{1}{v} \left(\log \frac{u}{v} \right)^{\gamma-1} z(v) dv.$$

This is established by the generalization of the integral.

$$\int_a^u \frac{dv_1}{v_1} \int_a^{v_1} \frac{dv_2}{v_2} \dots \int_a^{v_{n-1}} \frac{f(v_n)}{v_n} dv_n = \frac{1}{\Gamma(n)} \int_a^u \frac{1}{v} \left(\log \frac{u}{v} \right)^{n-1} z(v) dv.$$

In the recent year, in [2] Diaz and Pariguan have introduced an extended form of the classical Gamma and Beta functions defined as,

$$B_k(u, v) = \frac{1}{k} \int_0^1 t^{\frac{u}{k}-1} (1-t)^{\frac{v}{k}-1} dt \quad (1.1)$$

and

$$\Gamma_k(x) = \int_0^{\infty} t^{x-1} e^{-\frac{t^k}{k}} dt \quad (1.2)$$

respectively.

Where, Γ_k is the Euler Gamma k -functions. For $k = 1$, it becomes classical Euler Gamma function and Beta function.

$$\Gamma_k(u) = \lim_{m \rightarrow \infty} \frac{m! k^m (mk)^{\frac{u}{k}-1}}{(u)_{m,k}}. \quad (1.3)$$

Where, $(u)_{k,m} = \prod_{i=0}^{m-1} (u + ik)$ is called to be Pochhammer k -symbol for the factorial functions. Some basic properties of Gamma and Beta k -extended form are defined as

$$B_k(u, v) = \frac{1}{k} B\left(\frac{u}{k}, \frac{v}{k}\right) = \frac{\Gamma_k(u)\Gamma_k(v)}{\Gamma_k(u+v)}, \quad (1.4)$$

also

$$\Gamma_k(r+k) = r\Gamma_k(u), \quad (1.5)$$

$$\Gamma(r) = \lim_{k \rightarrow 1} \Gamma_k(r) \quad (1.6)$$

$$\Gamma_k(r) = k^{\frac{r}{k}-1} \Gamma_k\left(\frac{r}{k}\right). \quad (1.7)$$

Later, by using above definitions, [7] have introduced the k -Riemann Liouville fractional Integral, which is defined as

$${}_k I^\gamma(z(u)) = \frac{1}{k\Gamma_k(\gamma)} \int_a^u (u-v)^{\frac{\gamma}{k}-1} z(v) dv, \quad u > a.$$

For $k = 1$, it becomes classical definition of the Riemann-Liouville fractional integral.

2. A NEW k -FRACTIONAL INTEGRAL OPERATORS

In this paper, we want to present a new k -fractional integral operators which modify all of the defined k -fractional integrals and k -Riemann Liouville fractional integral in the sense of kernel. Also, the paper focuses to explore the behaviour of new fractional integral operators through different inequalities and some basic properties, when use the sum of two parameters as exponent which is also become a single parameter as exponent for $\lambda = 0$. The new fractional integral operators illustrated by some theorems and examples, is defined as:

2.1. Definition. Let z be a continuous function on the interval (a, u) and $\lambda \geq 0$. Then a new k -fractional integral operators of order $\gamma > 0$, of z is defined as

$${}_k I_{a^+}^{\gamma, \lambda} z(u) = \frac{1}{k\Gamma_k(\gamma)} \int_a^u (e^{u+\lambda} - e^{v+\lambda})^{\frac{\gamma}{k}-1} e^{v+\lambda} z(v) dv \quad (2.8)$$

which, is based on the relation

$$\int_a^u e_1^{v+\lambda} dv_1 \int_a^{v_1} e_2^{v+\lambda} dv_2 \dots \int_a^{v_{n-1}} e_n^{v+\lambda} z(v_n) dv_n = \frac{1}{\Gamma(n)} \int_a^u (e^{u+\lambda} - e^{v+\lambda})^{n-1} e^{v+\lambda} z(v) dv.$$

For $k = 1$, (2.8) becomes in standard form as

$$I_{a^+}^{\gamma, \lambda} z(u) = \frac{1}{\Gamma(\gamma)} \int_a^u (e^{u+\lambda} - e^{v+\lambda})^{\gamma-1} e^{v+\lambda} z(v) dv.$$

Now, we prove the new fractional integral operators is well defined:

Theorem 2.1. Let $g \in L_1[c, d]$, $c > 0$. Then for $\gamma > 0$ and $\lambda, k > 0$ ${}_k I_a^\gamma g(u)$ almost exist everywhere on the interval $[c, d]$ and ${}_k I_a^{\gamma, \lambda} g(u) \in L_1[c, d]$.

Proof: Let $Q : \Delta = [c, d] \times [c, d] \rightarrow R$ by defining $Q(u, v) = \left[(e^{u+\lambda} - e^{v+\lambda})^{\frac{\gamma}{k}-1} e^{v+\lambda} \right]_+$ or,

$$Q(u, v) = \begin{cases} (e^{u+\lambda} - e^{v+\lambda})^{\frac{\gamma}{k}-1} e^{v+\lambda} & c \leq v \leq u \leq d \\ 0 & c \leq u \leq v \leq d. \end{cases}$$

Thus, as Q is measurable on Δ , we get

$$\begin{aligned} \int_c^d Q(u, v) dv &= \int_c^u Q(u, v) dv + \int_u^d Q(u, v) dv = \int_c^u (e^{u+\lambda} - e^{v+\lambda})^{\frac{\gamma}{k}-1} e^{v+\lambda} dv, \\ &= \frac{k}{\gamma} (e^{u+\lambda} - e^{c+\lambda})^{\frac{\gamma}{k}}. \end{aligned}$$

By using the repetition of the integral, we obtain

$$\begin{aligned} \int_c^d [Q(u, v)|g(u)|dv] du &= \int_c^d |g(u)| \left[\int_c^d Q(u, v) dv \right] du \\ &= \frac{k}{\gamma} \int_c^d (e^{u+\lambda} - e^{c+\lambda})^{\frac{\gamma}{k}} |g(u)| du, \\ &\leq \frac{k}{\gamma} (e^{d+\lambda} - e^{c+\lambda})^{\frac{\gamma}{k}} \int_c^d |g(u)| du. \end{aligned}$$

That is

$$\begin{aligned} \int_c^d [Q(u, v)|g(u)|dv] du &= \int_c^d |g(u)| \left[\int_c^d Q(u, v) dv \right] du \\ &\leq \frac{k}{\gamma} (e^{d+\lambda} - e^{c+\lambda})^{\frac{\gamma}{k}} \|g(u)\|_{L_1[c, d]} < \infty. \end{aligned}$$

Therefore, by Tonelli's theorem the function $P : \Delta \rightarrow R$ is integrable up to Δ such that $P(u, v) = Q(u, v)g(u)$. Hence by using Fubini's theorem $\int_c^d Q(u, v)g(u)du$ is an integrable function on $[c, d]$. It means that ${}_k I^\gamma g(u)$ is integrable on $[c, d]$.

Theorem 2.2. Let z be continuous on (a, u) and also, let $\gamma, \beta > 0$ $\lambda \geq 0$. Then for all u

$${}_k I^{\gamma, \lambda} ({}_k I^{\beta, \lambda} z(u)) = {}_k I^{(\gamma+\beta), \lambda} z(u) = {}_k I^{\beta, \lambda} ({}_k I^{\gamma, \lambda} z(u)).$$

Proof: According to the definition of new k -fractional integral and using Dirichlet's formula, we have

$${}_k I^{\gamma, \lambda} ({}_k I^{\beta, \lambda} z(u)) = \frac{1}{k\Gamma_k(\gamma)} \int_a^u (e^{u+\lambda} - e^{v+\lambda})^{\frac{\gamma}{k}-1} e^{v+\lambda} ({}_k I^{\beta, \lambda} z(v)) dv$$

and

$$\begin{aligned} &= \frac{1}{k\Gamma_k(\gamma)} \int_a^u (e^{u+\lambda} - e^{v+\lambda})^{\frac{\gamma}{k}-1} e^{v+\lambda} \left[\frac{1}{k\Gamma_k(\beta)} \int_a^v (e^{v+\lambda} - e^{t+\lambda})^{\frac{\beta}{k}-1} e^{t+\lambda} z(t) dt \right] dv. \\ &= \frac{1}{k^2\Gamma_k(\gamma)\Gamma_k(\beta)} \int_a^u e^{t+\lambda} z(t) \left[\int_t^u (e^{u+\lambda} - e^{v+\lambda})^{\frac{\gamma}{k}-1} (e^{v+\lambda} - e^{t+\lambda})^{\frac{\beta}{k}-1} e^{v+\lambda} dv \right] dt. \end{aligned}$$

By changing the variable of the inner integral $y = \frac{e^{v+\lambda} - e^{t+\lambda}}{e^{u+\lambda} - e^{t+\lambda}}$

$$= \frac{1}{k^2\Gamma_k(\gamma)\Gamma_k(\beta)} \int_a^u e^{t+\lambda} z(t) (e^{u+\lambda} - e^{t+\lambda})^{\frac{\gamma+\beta}{k}-1} \left[\int_0^1 (1-y)^{\frac{\gamma}{k}-1} y^{\frac{\beta}{k}-1} dy \right] dt.$$

According to the k -Beta function, we get

$$\begin{aligned} {}_k I_a^{\gamma,\lambda} ({}_k I_a^{\beta,\lambda} z(u)) &= \frac{1}{k\Gamma_k(\gamma+\beta)} \int_a^u e^{t+\lambda} (e^{u+\lambda} - e^{t+\lambda})^{\frac{\gamma+\beta}{k}-1} z(t) dt \\ {}_k I_a^{\gamma,\lambda} ({}_k I_a^{\beta,\lambda} z(u)) &= {}_k I_a^{(\gamma+\beta),\lambda} z(u) = {}_k I_a^{\beta,\lambda} ({}_k I_a^{\gamma,\lambda} z(u)). \end{aligned}$$

Theorem 2.3. Let $\gamma, \beta > 0, a > 0$. Then

$${}_k I_a^{\gamma,\lambda} \left((e^{u+\lambda} - e^{a+\lambda})^{\frac{\beta}{k}-1} \right) = \frac{\Gamma_k(\beta)}{\Gamma_k(\gamma+\beta)} (e^{u+\lambda} - e^{a+\lambda})^{\frac{\gamma+\beta}{k}-1}, k > 0 \quad (2.9)$$

where Γ_k represent the k -Gamma function.

Proof: According to the definition of new k -fractional integral and changing the variable $y = \frac{e^{v+\lambda} - e^{a+\lambda}}{e^{u+\lambda} - e^{a+\lambda}}$, that turns into

$${}_k I_a^{\gamma,\lambda} \left((e^{u+\lambda} - e^{a+\lambda})^{\frac{\beta}{k}-1} \right) = \frac{1}{k\Gamma_k(\gamma)} \int_a^u (e^{u+\lambda} - e^{v+\lambda})^{\frac{\gamma}{k}-1} (e^{v+\lambda} - e^{a+\lambda})^{\frac{\beta}{k}-1} e^{v+\lambda} dv$$

$${}_k I_a^{\gamma,\lambda} \left((e^{u+\lambda} - e^{a+\lambda})^{\frac{\beta}{k}-1} \right) = \frac{(e^{u+\lambda} - e^{a+\lambda})^{\frac{\gamma+\beta}{k}-1}}{k\Gamma_k(\gamma)} \int_0^1 (1-y)^{\frac{\gamma}{k}-1} y^{\frac{\beta}{k}-1} dy,$$

$${}_k I_a^{\gamma,\lambda} \left((e^{u+\lambda} - e^{a+\lambda})^{\frac{\beta}{k}-1} \right) = \frac{\Gamma_k(\beta)}{\Gamma_k(\gamma+\beta)} (e^{u+\lambda} - e^{a+\lambda})^{\frac{\gamma+\beta}{k}-1},$$

which completes the proof of this theorem.

Remark 2.4. For $k = 1$ in (2.9), we gain the formula

$$I_a^{\gamma,\lambda} \left((e^{u+\lambda} - e^{a+\lambda})^{\frac{\beta}{k}-1} \right) = \frac{\Gamma(\beta)}{\Gamma(\gamma+\beta)} (e^{u+\lambda} - e^{a+\lambda})^{\gamma+\beta-1}.$$

Corollary 2.5. Let $\gamma, \beta > 0, a > 0$. Then

$${}_k I_a^{\gamma,\lambda}(1) = \frac{(e^{u+\lambda} - e^{a+\lambda})^{\frac{\gamma}{k}}}{\Gamma_k(\gamma+k)}. \quad (2.10)$$

Remark 2.6. For $k = 1$, the above relation (2. 10) becomes

$$I_a^{\gamma,\lambda}(1) = \frac{(e^{u+\lambda} - e^{a+\lambda})^\gamma}{\Gamma(\gamma + 1)}.$$

3. SOME FRACTIONAL INTEGRAL INEQUALITIES ANALOGOUS NEW k -FRACTIONAL INTEGRAL OPERATORS

Chebyshev Type Inequalities corresponding to the new fractional integral operators can be represented as follows:

Theorem 3.1. Let two synchronous functions g, h on $[0, 1]$, then for all $u > 0, \gamma, \beta > 0$, then for new k -fractional integral the following inequalities hold:

$${}_k I_a^{\gamma,\lambda} g h(u) \geq \frac{1}{{}_k I_a^{\gamma,\lambda}(1)} {}_k I_a^{\gamma,\lambda} g(u) {}_k I_a^{\gamma,\lambda} h(u),$$

and

$${}_k I_a^{\gamma,\lambda} g h(u) {}_k I_a^{\beta,\lambda}(1) + {}_k I_a^{\beta,\lambda} g h(u) {}_k I_a^{\gamma,\lambda}(1) \geq {}_k I_a^{\gamma,\lambda} g(u) {}_k I_a^{\beta,\lambda} h(u) + {}_k I_a^{\gamma,\lambda} h(u) {}_k I_a^{\beta,\lambda} g(u).$$

Proof: Since g and h both are synchronous functions on the interval $[0, 1]$, then for all $\tau, t \geq 0$, we have

$$(g(\tau) - g(t))(h(\tau) - h(t)) \geq 0.$$

Therefore

$$g(\tau)h(\tau) + g(t)h(t) \geq g(\tau)h(t) + g(t)h(\tau). \quad (3. 11)$$

Multiplying both sides of (3. 11) by $\frac{1}{k\Gamma_k(\gamma)} (e^{u+\lambda} - e^{\tau+\lambda})^{\frac{\gamma}{k}-1} e^{\tau+\lambda}$ and then, integrating the resulting inequality w.r.t. τ up to (a, u) , we obtain

$$\begin{aligned} \frac{1}{k\Gamma_k(\gamma)} \int_a^u (e^{u+\lambda} - e^{\tau+\lambda})^{\frac{\gamma}{k}-1} e^{\tau+\lambda} g(\tau)h(\tau) d\tau \\ + g(t)h(t) \frac{1}{k\Gamma_k(\gamma)} \int_a^u (e^{u+\lambda} - e^{\tau+\lambda})^{\frac{\gamma}{k}-1} e^{\tau+\lambda} d\tau \end{aligned}$$

i.e.

$${}_k I_a^{\gamma,\lambda} g h(u) + g(t)h(t) {}_k I_a^{\gamma,\lambda}(1) \geq h(t) {}_k I_a^{\gamma,\lambda} g(u) + g(t) {}_k I_a^{\gamma,\lambda} h(u). \quad (3. 12)$$

Now, multiplying both sides of (3. 12) by $\frac{1}{k\Gamma_k(\beta)} (e^{u+\lambda} - e^{t+\lambda})^{\frac{\beta}{k}-1} e^{t+\lambda}$ and then integrating the resulting inequality w.r.t. t over (a, u) , we obtain

$$\begin{aligned} {}_k I_a^{\gamma,\lambda} g h(u) \frac{1}{k\Gamma_k(\beta)} \int_a^u (e^{u+\lambda} - e^{t+\lambda})^{\frac{\beta}{k}-1} e^{t+\lambda} dt \\ + {}_k I_a^{\gamma,\lambda}(1) \frac{1}{k\Gamma_k(\beta)} \int_a^u (e^{u+\lambda} - e^{t+\lambda})^{\frac{\beta}{k}-1} e^{t+\lambda} g(t)h(t) dt \end{aligned}$$

that is

$${}_k I_a^{\gamma,\lambda} g h(u) {}_k I_a^{\beta,\lambda} (1) + {}_k I_a^{\gamma,\lambda} (1) {}_k I_a^{\beta,\lambda} g h(u) \geq {}_k I_a^{\gamma,\lambda} g(u) {}_k I_a^{\beta,\lambda} h(u) + {}_k I_a^{\gamma,\lambda} h(u) {}_k I_a^{\beta,\lambda} g(u).$$

Now the second inequality is proved.

Theorem 3.2. *Let g, h both are synchronous on the interval $[0, \infty)$, and $J \geq 0$, then $\forall u > a \geq 0, \gamma, \beta > 0$, the following k -fractional integral inequality hold:*

$$\begin{aligned} & \frac{1}{\Gamma_k(\beta + k)} (e^{u+\lambda} - e^{a+\lambda})^{\frac{\beta}{k}} {}_k I_a^{\gamma,\lambda} g h J(u) + \frac{1}{\Gamma_k(\gamma + k)} (e^{u+\lambda} - e^{a+\lambda})^{\frac{\gamma}{k}} {}_k I_a^{\beta,\lambda} g h J(u) \\ & \geq {}_k I_a^{\gamma,\lambda} g J(u) {}_k I_a^{\beta,\lambda} h(u) + {}_k I_a^{\gamma,\lambda} h J(u) {}_k I_a^{\beta,\lambda} g(u) - {}_k I_a^{\gamma,\lambda} J(u) {}_k I_a^{\beta,\lambda} g h(u) \\ & \quad - {}_k I_a^{\gamma,\lambda} g h(u) {}_k I_a^{\beta,\lambda} J(u) + {}_k I_a^{\gamma,\lambda} g(u) {}_k I_a^{\beta,\lambda} h J(u) + {}_k I_a^{\gamma,\lambda} h(u) {}_k I_a^{\beta,\lambda} g J(u). \end{aligned}$$

Proof: Since the functions g and h are synchronous on the interval $[0, 1)$, then $\forall r, s \geq 0$ and $J \geq 0$, we get

$$(g(r) - g(s)) (h(r) - h(s)) (J(r) + J(s)) \geq 0.$$

Therefore

$$\begin{aligned} g(r)h(r)J(r) + g(s)h(s)J(s) & \geq g(r)h(s)J(s) + g(s)h(r)J(r) + g(r)h(s)J(r) \\ & \quad + g(s)h(r)J(s) - g(r)h(r)J(s) - g(s)h(s)J(r). \end{aligned} \tag{3. 13}$$

Both sides of (3. 13) multiplying by $\frac{1}{k\Gamma_k(\gamma)} (e^{u+\lambda} - e^{r+\lambda})^{\frac{\gamma}{k}-1} e^{r+\lambda}$ and then integrating the resulting inequality w.r.t. r up to (a, u) , we obtain

$$\begin{aligned} & \frac{1}{k\Gamma_k(\gamma)} \int_a^u (e^{u+\lambda} - e^{r+\lambda})^{\frac{\gamma}{k}-1} e^{r+\lambda} g(r)h(r)J(r) dr \\ & \quad + g(s)h(s)J(s) \frac{1}{k\Gamma_k(\gamma)} \int_a^u (e^{u+\lambda} - e^{r+\lambda})^{\frac{\gamma}{k}-1} e^{r+\lambda} dr \end{aligned}$$

$$\begin{aligned}
&\geq h(s)J(s)\frac{1}{k\Gamma_k(\gamma)}\int_a^u(e^{u+\lambda}-e^{r+\lambda})^{\frac{\gamma}{k}-1}e^{r+\lambda}g(r)dr \\
&+ g(s)\frac{1}{k\Gamma_k(\gamma)}\int_a^u(e^{u+\lambda}-e^{r+\lambda})^{\frac{\gamma}{k}-1}e^{r+\lambda}h(r)J(r)dr \\
&+ g(s)J(s)\frac{1}{k\Gamma_k(\gamma)}\int_a^u(e^{u+\lambda}-e^{r+\lambda})^{\frac{\gamma}{k}-1}e^{r+\lambda}h(r)dr \\
&+ h(s)\frac{1}{k\Gamma_k(\gamma)}\int_a^u(e^{u+\lambda}-e^{r+\lambda})^{\frac{\gamma}{k}-1}e^{r+\lambda}g(r)J(r)dr \\
&- J(s)\frac{1}{k\Gamma_k(\gamma)}\int_a^u(e^{u+\lambda}-e^{r+\lambda})^{\frac{\gamma}{k}-1}e^{r+\lambda}g(r)h(r)dr \\
&- g(s)h(s)\frac{1}{k\Gamma_k(\gamma)}\int_a^u(e^{u+\lambda}-e^{r+\lambda})^{\frac{\gamma}{k}-1}e^{r+\lambda}J(r)dr
\end{aligned}$$

i.e.

$$\begin{aligned}
{}_kI_a^{\gamma,\lambda}ghJ(u) + g(s)h(s)J(s){}_kI_a^{\gamma,\lambda}(1) &\geq h(s)J(s){}_kI_a^{\gamma,\lambda}g(u) + g(s){}_kI_a^{\gamma,\lambda}hJ(u) + g(s)J(s){}_kI_a^{\gamma,\lambda}h(u) \\
&+ h(s){}_kI_a^{\gamma,\lambda}gJ(u) - J(s){}_kI_a^{\gamma,\lambda}gh(u) - g(s)h(s){}_kI_a^{\gamma,\lambda}J(u).
\end{aligned} \tag{3.14}$$

Both sides of above equation multiplying by $\frac{1}{k\Gamma_k(\beta)}(e^{u+\lambda}-e^{s+\lambda})^{\frac{\beta}{k}-1}e^{s+\lambda}$ and then integrating the resulting inequality w.r.t. s up to (a, u) , we obtain

$$\begin{aligned}
{}_kI_a^{\gamma,\lambda}ghJ(u){}_kI_a^{\beta,\lambda}(1) + {}_kI_a^{\beta,\lambda}ghJ(u){}_kI_a^{\gamma,\lambda}(1) &\geq {}_kI_a^{\beta,\lambda}hJ(u){}_kI_a^{\gamma,\lambda}g(u) + {}_kI_a^{\beta,\lambda}g(u){}_kI_a^{\gamma,\lambda}hJ(u) \\
&+ {}_kI_a^{\beta,\lambda}gJ(u){}_kI_a^{\gamma,\lambda}h(u) + {}_kI_a^{\beta,\lambda}h(u){}_kI_a^{\gamma,\lambda}gJ(u) \\
&- {}_kI_a^{\beta,\lambda}J(u){}_kI_a^{\gamma,\lambda}gh(u) - {}_kI_a^{\beta,\lambda}gh(u){}_kI_a^{\gamma,\lambda}(u).
\end{aligned} \tag{3.15}$$

which is the required proof.

Corollary 3.3. Let g, h both synchronous functions on the interval $[0, 1)$, and $J \geq 0$, then $\forall u > a \geq 0, \gamma > 0$, the following k -fractional integral inequalities hold:

$$\begin{aligned} & \frac{(e^{u+\lambda} - e^{a+\lambda})^{\frac{\gamma}{k}}}{\Gamma_k(\gamma + k)} {}_k I_a^{\gamma, \lambda} g h J(u) \\ & \geq {}_k I_a^{\gamma, \lambda} g(u) {}_k I_a^{\gamma, \lambda} h J(u) + {}_k I_a^{\gamma, \lambda} g J(u) {}_k I_a^{\gamma, \lambda} h(u) - {}_k I_a^{\gamma, \lambda} J(u) {}_k I_a^{\gamma, \lambda} g h(u). \end{aligned} \quad (3.16)$$

Theorem 3.4. Let g, h and J be the three define monotonic functions on the interval $[0, \infty)$, satisfactory the following

$$(g(r) - g(s))(h(r) - h(s))(J(r) - J(s)) \geq 0$$

$[0, \infty)$, and $J \geq 0$, then $\forall u > a \geq 0, \gamma, \beta > 0$, following k -fraction integral inequality hold:

$$\begin{aligned} & \frac{1}{\Gamma_k(\beta + k)} (e^{u+\lambda} - e^{a+\lambda})^{\frac{\beta}{k}} {}_k I_a^{\gamma, \lambda} g h J(u) - \frac{1}{\Gamma_k(\gamma + k)} (e^{u+\lambda} - e^{a+\lambda})^{\frac{\gamma}{k}} {}_k I_a^{\beta, \lambda} g h J(u) \\ & \geq {}_k I_a^{\gamma, \lambda} g J(u) {}_k I_a^{\beta, \lambda} h(u) + {}_k I_a^{\gamma, \lambda} h J(u) {}_k I_a^{\beta, \lambda} g(u) - {}_k I_a^{\gamma, \lambda} J(u) {}_k I_a^{\beta, \lambda} g h(u) \\ & \quad - {}_k I_a^{\gamma, \lambda} g h(u) {}_k I_a^{\beta, \lambda} J(u) + {}_k I_a^{\gamma, \lambda} g(u) {}_k I_a^{\beta, \lambda} h J(u) + {}_k I_a^{\gamma, \lambda} h(u) {}_k I_a^{\beta, \lambda} g J(u). \end{aligned}$$

Proof: We proof this theorem to use the same arguments as in theorem 3.2.

Theorem 3.5. Suppose that $g : R \rightarrow R$ be a function, that is represented as

$$g'(u) = \int_a^u g(\tau) d\tau \quad u > a \geq 0.$$

Then for $\gamma \geq k > 0$,

$${}_k I_a^{\gamma, \lambda} g'(u) = \frac{k}{(e^{u+\lambda} - e^{a+\lambda})} {}_k I_a^{(\gamma+k), \lambda} g(u).$$

Proof: From the definition of the new k -fractional integral and using the Dirichlets formula, we obtain

$${}_k I_a^{\gamma, \lambda} g'(u) = \frac{1}{k \Gamma_k(\gamma)} \int_a^u (e^{u+\lambda} - e^{v+\lambda})^{\frac{\gamma}{k}-1} e^{v+\lambda} \int_a^v g(t) dt dv,$$

$${}_k I_a^{\gamma, \lambda} g'(u) = \frac{1}{k \Gamma_k(\gamma)} \int_a^u g(t) dt \int_t^u (e^{u+\lambda} - e^{v+\lambda})^{\frac{\gamma}{k}-1} e^{v+\lambda} dv.$$

Also,

$${}_k I_a^{\gamma, \lambda} g'(u) = \frac{k}{(e^{u+\lambda} - e^{a+\lambda}) k \Gamma_k(\gamma + k)} \int_a^u (e^{u+\lambda} - e^{t+\lambda})^{\frac{\gamma}{k}} e^{t+\lambda} g(t) dt,$$

$${}_k I_a^{\gamma, \lambda} g'(u) = \frac{k}{(e^{u+\lambda} - e^{a+\lambda})} {}_k I_a^{(\gamma+k), \lambda} g(u).$$

Thus the required result is obtained.

Now, we present a hypothesized Cauchy Schwarz-Bunyakovsky inequality as take place:

Lemma 3.6. *Let $g, h, l : [c, d] \rightarrow [0, \infty)$ be the functions which are continuous and $0 \leq c \leq d$. Then*

$$\left(\int_c^d g^p(w) h^x(w) l(w) dw \right) \left(\int_c^d g^q(w) h^y(w) l(w) dw \right) \geq \left(\int_c^d g^{\frac{p+q}{2}}(w) h^{\frac{x+y}{2}}(w) l(w) dw \right)^2. \quad (3.17)$$

Where x, y, p, q are the arbitrary positive real numbers.

Proof: It is clear that

$$\int_c^d \left[\sqrt{g^p(w) h^x(w) l(w)} \sqrt{\int_c^d g^q(w) h^y(w) l(w) dw} - \sqrt{g^q(w) h^y(w) l(w)} \sqrt{\int_c^d g^p(w) h^x(w) l(w) dw} \right]^2 \geq 0$$

then, it take place of

$$\begin{aligned} & \int_c^d g^p(w) h^x(w) l(w) dw \int_c^d g^q(w) h^y(w) l(w) dw + \int_c^d g^q(w) h^y(w) l(w) dw \int_c^d g^p(w) h^x(w) l(w) dw \\ & - 2 \left(\int_c^d g^{\frac{p+q}{2}}(w) h^{\frac{x+y}{2}}(w) l(w) dw \right) \sqrt{\int_c^d g^q(w) h^y(w) l(w) dw} \sqrt{\int_c^d g^p(w) h^x(w) l(w) dw} \geq 0 \end{aligned}$$

and also,

$$\begin{aligned} & 2 \left(\int_c^d g^p(w) h^x(w) l(w) dw \right) \left(\int_c^d g^q(w) h^y(w) l(w) dw \right) \\ & \geq 2 \left(\int_c^d g^{\frac{p+q}{2}}(w) h^{\frac{x+y}{2}}(w) l(w) dw \right) \sqrt{\int_c^d g^q(w) h^y(w) l(w) dw} \sqrt{\int_c^d g^p(w) h^x(w) l(w) dw}, \end{aligned}$$

which provides the required inequality.

Theorem 3.7. *Let $g \in L_1[c, d]$. So, that for $k, p, q, x, y > 0$ also $\gamma > 0$*

$$\left({}_k I_a^{p\left(\frac{\gamma}{k}-1\right)+1} f^x(u) \right) \left({}_k I_a^{q\left(\frac{\gamma}{k}-1\right)+1} f^y(u) \right) \geq \left({}_k I_a^{\frac{p+q}{2}\left(\frac{\gamma}{k}-1\right)+1} f^{\frac{x+y}{2}}(u) \right)^2. \quad (3.18)$$

Proof: By putting $g(v) = (e^{u+\lambda} - e^{v+\lambda})^{\frac{\gamma}{k}-1}$, $l(v) = \frac{1}{k\Gamma_k(\gamma)}e^{v+\lambda}$ and $h(v) = f(v)$ in (3.17), we get

$$\begin{aligned} & \left(\frac{1}{k\Gamma_k(\gamma)} \int_c^u (e^{u+\lambda} - e^{v+\lambda})^{p(\frac{\gamma}{k}-1)} f^x(v) e^{v+\lambda} dv \right) \\ & \left(\frac{1}{k\Gamma_k(\gamma)} \int_c^u (e^{u+\lambda} - e^{v+\lambda})^{q(\frac{\gamma}{k}-1)} f^y(v) e^{v+\lambda} dv \right) \\ & \geq \left(\frac{1}{k\Gamma_k(\gamma)} \int_c^u (e^{u+\lambda} - e^{v+\lambda})^{\frac{p+q}{2}(\frac{\gamma}{k}-1)} f^{\frac{x+y}{2}}(v) e^{v+\lambda} dv \right)^2, \end{aligned}$$

which gives the required result (3.18).

Remark 3.8. For $k = 1$, the (3.18) inequality becomes the following

$$\left(I_a^{p(\gamma-1)+1} f^x(u) \right) \left(I_a^{q(\gamma-1)+1} f^y(u) \right) \geq \left(I_a^{\frac{p+q}{2}(\gamma-1)+1} f^{\frac{x+y}{2}}(u) \right)^2. \quad (3.19)$$

4. CONCLUSION

The results of this research show how to examine the properties of fractional integral for the modified new k -fractional integral operators. This modification of the new k -fractional integral was dependent on an exponential kernel of arbitrary exponent in the integral. Also corresponding to the new fractional integral operators we studied some k -fractional integral inequalities and Chebyshev type inequalities.

5. ACKNOWLEDGMENTS

I would like to thank Allah for his blessing and my supervisor, Dr. Ghulam Farid, for his sincere guidance, encouragement and advice he has provided throughout my time as his student. I would also like to thank all the members of staff at university of Agriculture Faisalabad and my parents and husband for their patience, encouragement and prayed for me at every step.

REFERENCES

- [1] H. Budak, F. Ust, M.Z. Sarikaya and M.E. Ozdemir, *On generalization of midpoint type inequalities with generalized fractional integral operators*, Revista de la Real Academia de Ciencias Exactas, Físicas y Naturales. Serie A. Matemáticas, **113**, No. 2 (2019) 769-790.
- [2] R. Diaz and E. Pariguan, *On hypergeometric functions and Pochhammer*, Divulgaciones Matemáticas, **15**, No.2 (2007) 179-192.
- [3] G. Farid and G.M. Habullah, *An extension of Hadamard fractional integral*, Int. J. Math. Anal, **10**, No.9 (2015) 471-482.
- [4] J. Hadamard, *Essai sur l'étude des fonctions, données par leur développement de Taylor*, J. math. pures appl. No.8 (1892) 101-186.
- [5] U.N. Katugampola, *New approach to a generalized fractional integral*, Applied Mathematics and Computation, **218**, No.3 (2011) 860-865.

- [6] A. A. Kilbas and H. M. Srivastava and J. J. Trujillo, *Theory and applications of fractional differential equations*, **204**, No.13(2006).
- [7] S. Mubeen and G. M. Habibullah G. M. *k-Fractional integrals and application*, Int. J. Contemp. Math. Sci, **2**, No.7(2012) 89-94.
- [8] E. D. Rainville, *Special functions*, 1971.
- [9] S. G. Samko, A. A. Kilbas and O.I. Marichev, *Fractional Integrals and Derivatives-Theory and Applications Gordon and Breach, Switzerland ; Philadelphia, Pa., USA : Gordon and Breach Science, (1993)*.
- [10] M. Z. Sarikaya, Z. Dahmani M.E. KIRIS and F. Ahmad *(k,s)-Riemann-Liouville fractional integral and applications*, Hacettepe J. Math. Stat. **1**, No.45 (2016) 77-89.
- [11] M. Z. Sarikaya, H. Budak H. and F. Usta, *Some generalized integral inequalities via fractional integrals*, Acta Mathematica Universitatis Comenianae, **89**, No.1 (2019) 27-38.
- [12] M.Z. Sarikaya, H. Budak and H. Usta, *On generalized the conformable fractional calculus*, TWMS J. App. and Eng. Math. **9**, No.4 (2019). 792-799.
- [13] E. Set, J. Choi and B. el?k, *Certain Hermite?Hadamard type inequalities involving generalized fractional integral operators*, Revista de la Real Academia de Ciencias Exactas, Fsicas y Naturales. Serie A. Matemticas, **112**, No.4 (2018)1539-1547.
- [14] F. Ust, H. BUDAK, F. ERTUGRAL and M.Z. SARIKAYA, *The Minkowski's inequalities utilizing newly defined generalized fractional integral operators*, Communications Faculty of Sciences University of Ankara Series A1 Mathematics and Statistics, **68**, No.1 (2019) 686-701.
- [15] F.Usta, F. Budak and M.Z. Sar?kaya, *Some new Chebyshev type inequalities utilizing generalized fractional integral operators*, AIMS Mathematics, **5**, No.2 (2020) 1147-1161.